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Combining Amounts (with Fractions)

Name:

Usethetablesto answer each question.

The table below shows the weight of
severa vehicles. What is the combined

weight of all the cars?

cu | Mo
Car 1 67
Car 2 32/4
Car 3 87,
Car 4 37,

The table below shows how many
milliliters of ink were in pens. What isthe

pens?

combined capacity of al the
TS
Pen 1 27
Pen 2 57
Pen 3 17,
Pen 4 87,

The table below shows how much water
several containerswill hold. What isthe
combined capacity of al the containers?

Container C?apacity
(in cups)
Container 1 64/8
Container 2 97,
Container 3 81/2
Container 4 23/4

2)  Thetable below shows the weight
of several dogs. What isthe
combined weight of all the dogs?

Answers

o] Vil
Dog 1 22/3
Dog 2 34/6
Dog 3 14/5
Dog 4 31/6

4)  Thetable below shows the height of
several boxes. What isthe
combined height of all the boxes?

Box 1 11/3
Box 2 11/5
Box 3 12/3
Box 4 42/3

6)  Thetable below shows the weight
of several phones. What isthe
combined weight of all the phones?

Phone V\gigztes()' .
Phone 1 14/5
Phone 2 86/8
Phone 3 7 f
Phone 4 41/3
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Combining Amounts (with Fractions)

Name:

Answer Key

Usethetablesto answer each question.

1) The table below shows the weight of
severa vehicles. What is the combined
weight of all the cars?

Car Weight (in
tons)
Car 1 67 674,
Car 2 3, 3%
Car 3 87, 87
Car 4 3%, 3%
3) The table below shows how many

milliliters of ink were in pens. What isthe

combined capacity of all the pens?
| Gty
Pen 1 2%, 2%
Pen 2 5%, 5%
Pen 3 1, 1%,
Pen 4 87, 8%,

5) The table below shows how much water
several containerswill hold. What isthe
combined capacity of al the containers?

Container C?apacity

(in cups)
Container 1 64/8 612/24
Container 2 91/3 98/24
Container 3 81/2 812/24
Container 4 23/4 218/24

2)

4)

6)

The table below shows the weight
of several dogs. What isthe
combined weight of all the dogs?

o] Vil
Dog 1 22/3
Dog 2 34/6
Dog 3 14/5
Dog 4 31/6

The table below shows the height of

2V

20
24

<Y/

several boxes. What isthe
combined height of all the boxes?

Box 1 11/3
Box 2 11/5
Box 3 12/3
Box 4 42/3

The table below shows the weight
of several phones. What isthe

combined weight of all the phones?

Phone V\()?ngtes()l .
Phone 1 14/5
Phone 2 86/8
Phone 3 7 f
Phone 4 41/3

Answers

227,

117,

49
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